2 o FEFE 2 ARMRRR—VIERERBELT o — FEREER

BEE : TR2949A3RH (H)

2 5 FHBELT7— (BRREED)

AEHAEEAGREAE RS

eSS mE 80 &
7 or— bEZE 50 &
EAR R 63 %
iR (EHEESR) BENER EREESR)
BRENDIEEE 33 & 66 % NP 16 & 32 %
RBRAFE—VigEE 20 % 40 % g 18 £ 36 %
B8 4 £ 8 % BRE 35 & 70 %
AR—=YLEFEEE 3 & 6 % Z Dt 1% 14 %
ENEES 14 2 % RKEE 14 2 %
EEE ; R
1 ERE 1% 8 % A ot bor A
T~2% 2 % 1 % 5% _ZRS zofs
3~5% 9 % 18 % , 9%
6~10% 18 % 36 %
10FuE 16 £ 32 %
ENEES 14 2 %
g
INRTy RAR—)L 1% 22 %
fEERRE 4 £ 8 %
g8 4 % 8 %
E3C 34 6 %
VI RFZR 3% 6 % 29
NL—F—IL 3% 5 % J5EFE *E: Lo
Foh— 3 & 6 % g L2k
S 32 5 % 2%
£—Yyvy 2 % 4 % 3
F—Fzl— 2 % 4 %
B ERT 2 & 4 %
Frk 14 2 %
Y7 bR—=IL 1% 2 %
N KR—)L 14 2 %
B 1% 2 % *
EFE 1 % 2 % P
Jzouy 14 2 %
W& 14 2 %
IFOESR 14 2 %
ENEES 2 & 4 %
(1) F>TWELEM? (2) FFHLTWETH?
[FELDRBE—YFEBMHL FSA 21 IS0 T
(1) SOHALESAVIZOVWTH>TWWELEM?
o TV 42 % 84 %
YAy Sy 8 £ 16 %
(2) TOHA RSAVIZDOWTERALTWETA?
SERLTLS Lty 45 £ 9 %
JER LTV Ry ssEran) 2 £ 4 %
Hh 5L 3 £ 6 %
BhnHdT—< (EHEZEH)
AR—Y EEEILDNT 1 % 344 EbnHdT—7
FL—=2 T DRE 24 % 8 % BRAF—Y [
FEHLOEARMEIZDONT 16 & 32 % REISOWT
AR —VHBIH SRLEROVT 6 % 12 % SRR
BELE 14 % 28 %
EEHICVELIIA =S —YaVRFL 14 £ 28 %
DNRBRAR—VIFEEHFICDOLT 5 & 10 %
Z Dt

2R —ViEEIS

CAVELEL—ZVYT
©ARB U REHR

cRAMLYF

A RKERFL—ZV AR

- BEREERAR—VICBTEEESR
- EEREOREDOCY

s AR—YEEE FL—=2T

1/2



